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SQUARE NOTES “

Opposite sides of a parallelogram are LDQA al UL\ onal =

Opposite angles of a parallelogram are &
Consecutive angles of a parallelogram are _ Slioxnl .
The sum of the angles of a parallelogram are = 30O’

The diagonals of a parallelogram _DISect cach other
Diagonals are _ P > pendiudw to each other

Diagonals Disect the angles
Diagonals are CONGRUENT

1.) Example: MNPQ is a square. Find the measure of each angle and justify why you can
conclude this.
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Use Square ABCD to solve each problem. .
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2 . mzAEB = 3x. Find x.
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3. m«ZBAC = 9x. Find x. A
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5. Determine whether the figure with vertices E(-2,-1), F(-1,3), G(3,2), and H(2,-2)
is a square.

To be a square, you must test for 4 = Sidod ond "'* Roond £
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